LUGIENEC |

HOLLYW0OD

THE ULTMATE WIDE SCREEN EXPERIENCE

COMFORT

LEFT FRAME ; SEAT & CUSHION
M6*16 M8*25 M8 | M8*16  M6*20 5*55 M6*30 M6
) =1 \ ‘ ~U
E@@ = L ¢ = = = o
A Gx2 Hx2 Ix2 Jx2 Kx2 L ! Cc D E Fx2 Nx4 Ox4 Px2 Qx4 4 R
‘ mm
iiiiiiiiiiiiiiiiiiiiiiiiiiiiiiii ‘i7iii7iiifiiifiiiiiiiiiiiiiiiii,
RIGHT FRAME | MIDDLE FRAME (option)
\
e M6*16 M8*25 M8 |
"!I \ | M6*16 M8*25 M8
» <)
L - 5 ' = | & @ s N W
\
B Gx2 Hx2 Ix2 Jx2 Kx2 M 5 R | Gx4 Hx2 Ix2 Jx2 Kx2 L M
mm
FOR SOLO ASSEMBLY

K x2

H x2

I x2

J x2

Make sure to adjust the seat and align the

flat side toward the screw before screwing.

Assurez-vous de bien ajuster |'assise et
d‘aligner la partie plate avec la vis.




HOLLYW0OD

THE ULTMATE WIDE SCREEN EXPERIENCE

LUGIENEC |

J
-

T v [ (%)

S 5SS < EE
S 2 E S 9%
) s >
$3v iveg Q
Ss§ 3$3,¢
YRS o v c
< <3 = a2
S35 7 o=
o5 ¥ Kol
S'3 S anN3E
s 3<% 25
Sy s$aza
<58 w3 N
vSay  o69&€&sS0
S o S 23T %
S LET PR
L ag 2 0H o
S e —3< 835
8583 gasaos
/loe ﬁrend
Qo £ 2090c
vegE TweEvy
3% ¢ 26w 2
30T wdé20609
v ¢ < LT EFT S
Ssuv3 T o>

/ AESS<c FdeI\

=
[
[T =
253 o
3 2 5
c £ < -]
D> a©
LDs g
£S5 3 > T
Do o 9
=2 c
s x 3 =)
=S @ V=
S S cwo Y
SO 3 Sxpa
-

58§ Mnm
S = < e g
pag S ©
U35 £ L <
3 = [ <
= S oo
£ ¥ S ol
Y Y} D0 9
ST 3 D =
sse — N.2
S N O S
2 S o
< O w a v
S 3Ss £ 23
“wa o > a

21-80-910¢ : 91epdn



